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Interpreting Percentile Scores

A widely used score from commercially published standardized tests is the percentile. This is perhaps the easieg
score for parents to understand, or at least it seems to be the easiest one to explain to a parent. The concept of the
percent of students equaled or exceeded by a particular student is straightforward—or is it? Try the following
examples. Indicate whether the stated interpretation of the percentile score is sound, true or false. The correct
answers and brief explanations appear on Page 30. This “test” may be reproduced without written permission
Please cite Educational Measurement: Issues and Practice as the source.

Hills’ Handy Hints: Percentiles

Please circle either T or F for each question. Mark a response for each question as there is no penalty for guessing. This is an

untimed test.

T F 1. Tim is a sixth grader. He
obtained a percentile score of
70 in reading on a published
standardized test. This means
that Tim got 70 percent of the
items correct.

T F 2. Mary got a raw score (not a
percentile score) of 70 correct
onreading. Sheis in Tim’s sixth
grade class. This score and Tim’s
percentile score of 70 indicate
that Mary and Tim both are
good readers.

John Hills is Professor of Educa-
tional Measurement in the Depart-
ment of Educational Research, De-
velopment and foundations of the
College of Education at Florida State
University.
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T F 3. Susie, a third grade student,

scored at the 30th percentile in
arithmetic at the end of the
school year. Scores this low are
regarded as failing, and there-
fore Susie should be retained
for another year in arithmetic
instruction so that she will not
be handicapped in the future.

T F 4. Bill received a percentile

score of 90 at the beginning of
the year and moved up to a
percentile score of 99 by the end
of the year. Jim, similarly,
moved from the 50th percentile
to the 59th. They made about
equal progress.

S. There is little difference be-
tween Sally’s score of the 98th

percentile and Jeanne’s score of |~
the 99.9th percentile, but there:

is a large difference between
Rebecca’s 84th percentile and
Sally’s 98th percegtile.

6. Mrs. Henderson is the new

. Principal at Hartford Elemen-

tary. She set as her goal getting
every pupil up to the 50th per-
centile within 4 years of her
arrival at Hartford Elementary.
With diligent effort and full
cooperation from the staff and
administration, this is a reason-
able goal for most modern
schools.

7. Mrs. Henderson wants to
evaluate the standing of each
grade in Hartford Elementary

by comparing Hartford sty.
dents’ achievement with the
average achievement in a repre-
sentative sample of elementary
schools in the nation. She ob-
tains the percentile scores for
each second grade pupil in read-
ing and averages them. The
average of these percentiles is
the percentile rank for her
school’s second graders.

8. Mr. Brown learns that Mrs.
Henderson wants to compare
the performance of each grade
in Hartford with other schools.
He is correct in claiming that
unless the test publisher pro-
vides norms on school means,
comparisons of Hartford means
with the mean performances in
other schools cannot be made.

9. While Rebecca scored at the
84th percentile on the reading
test, Helmut scored only at the
75th percentile. Clearly Rebecca
is a better reader than-Helmut.

10. Miss Spolano is the school
counselor at Hartford. She
claims that scores on the read-
ing test should not be reported
as percentiles, but as percentile
bands. However, the percentile
bands are so wide for Gretchen,
from the 37th percentile to the
58th percentile, that only by
getting the percentile score itself
do you have an accurate mea-
sure of how well Gretchen reads.
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